
Solutions for Class 9 Maths Chapter 24 Measure of
Central Tendency

Exercise 24.3
Question 1: Find the median of the following data:

83,37,70,29,4 5,63,4 1,70,34,54

Solution:

Arranging given numbers in ascending order:

2 9,3 4,3 7,4 1 ,4 5 ,5 4 ,6 3,7 0 ,7 0 ,83

Here, Total number of terms = n = 10 (even)

m edian
uoiue-f + l^ th  value.

-y tft uoitie-i- + l j i fc  value

5 tk  val.ue+6th value

45+54

^  = 49.5
A

Question 2: Find the median of the following data: 
1 33 , 73 , 89 , 1 0 8 , 9 4, 1 0 4 , 9 4, 8 5 , 1 0 0 , 1 20

Solution:

Arranging given numbers in ascending order:

73,85,89  ,94 , 94,100,104,108,120,133

Here, total number of terms = n = 10 (even)



2-th value-i ( ^  +1) th value
median — —------------- —— -------------

y  th valued ( y  +1 ̂ th value

Solutions for Class 9 Maths Chapter 24 Measure of
Central Tendency

5th value+6th value

94+100
2

Question 3: Find the median of the following data:
3 1 . 3 8 . 2 7 . 2 8 . 3 6 . 2 5 . 3 5 . 4 0

Solution:

Arranging given numbers in ascending order

2 5 . 2 7 . 2 8 . 3 1 . 3 5 . 3 6 . 3 8 . 4 0

Here, total number of terms = n = 8 (even)

2-th value+ ( — + l \ th  value
m edian =  ----------------y — -------------

- th  value+[ | t-l'jth value

Ath value+5th value 
2

31+35
2

Question 4: Find the median of the following data:
1 5 , 6 , 1 6 , 8 , 2 2 , 2 1 , 9 , 1 8 , 2 5

Solution:
Arranging given numbers in ascending order 
6 , 8 , 9 , 1 5 , 1 6 , 2 1 , 2 2 , 2 5



Here, total number of terms = n = 9 (odd)

ia M edian  I . - - jf f t te rm

= ( - ^ - r ) th term 

= bth term -16
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Question 5: Find the median of the following data: 
4 1 , 4 3 , 1 2 7 , 9 9 , 7 1 , 9 2 , 7 1 , 5 8 , 5 7

Solution:
Arranging given numbers in ascending order 
4 1 , 4 3 , 5 7 , 5 8 , 7 1 , 7 1 , 9 2 , 9 9 , 1 2 7

Here, total number of terms = n = 9 (odd)

M edian ( T ) th  term

= t f r  term

-  5 th  term -  71

Question 6: Find the median of the following data: 
2 5 , 3 4 , 3 1 , 2 3 , 2 2 , 2 6 , 3 5 , 2 9 , 2 0 , 3 2

Solution:
Arranging given numbers in ascending order 
2 0 , 2 2 , 2 3 , 2 5 , 2 6 , 2 9 , 3 1 , 3 2 , 3 4 , 3 5

Here, total number of terms = n = 10 (even)



^ th  va /ue+ f value
m edian =  ---------------- —-----------------
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Question 7: Find the median of the following data: 
1 2 , 1 7 , 3 , 1 4 , 5 , 8 , 7 , 1 5

Solution:
Arranging given numbers in ascending order 
3 , 5 , 7 , 8 , 1 2 , 1 4 , 1 5 , 1 7

Here, total number of terms = n = 8(even)

valued ( — +1 j th value
m edian  =  —-------------- y — -------------

- th  v a lu e + ^  +  l^th value

4th  value+ 5th value

a-r 12 
2

Question 8: Find the median of the following data: 
9 2 , 3 5 , 6 7 , 8 5 , 7 2 , 8 1 , 5 6 , 5 1 , 4 2 , 6 9

Solution:
Arranging given numbers in ascending order 

3 5,4 2 ,5 1 ,5 6 ,6 7,6 9,7 2 ,8 1 ,8 5 , 9 2

Here, total number of terms = n = 10(even)



2-th value
m edian =  —-------------- ——  -------------
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5th value+6th value

67 1-69 
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